

·	Contribution	Total	Total
Department	Rate	Participants	Contribution
ALAMO FIRE DEPARTMENT	\$36.00	6	\$216.00
ALPINE FIRE DEPARTMENT	\$36.00	31	\$1,116.00
ALVIN FIRE DEPARTMENT	\$215.00	43	\$9,245.00
ANDREWS FIRE DEPARTMENT	\$36.00	33	\$1,188.00
ANGLETON FIRE DEPARTMENT	\$172.00	30	\$5,160.00
ATASCOCITA	\$50.00	31	\$1,550.00
AUSTIN COUNTY ESD#2	\$36.00	3	\$108.00
BAIRD VFD	\$50.00	6	\$300.00
BALLINGER FIRE DEPARTMENT	\$45.00	17	\$765.00
BASTROP COUNTY ESD NO 1	\$50.00	18	\$900.00
BEACH CITY VOLUNTEER FIRE DEPARTMENT	\$50.00	10	\$500.00
BERLIN- MILL CREEK- ZIONSVILLE VFD	\$36.00	15	\$540.00
BERTRAM FIRE DEPARTMENT	\$50.00	6	\$300.00
BEXAR COUNTY ESD 5 FIRE AND RESCUE	\$36.00	1	\$36.00
BRADY FIRE DEPARTMENT	\$36.00	10	\$360.00
BRAZORIA FIRE DEPARTMENT	\$100.00	9	\$900.00
BREMOND FIRE DEPARTMENT	\$43.00	9	\$387.00
BRENHAM FIRE DEPARTMENT	\$160.00	16	\$2,560.00
BRIDGE CITY FIRE AND RESCUE	\$36.00	28	\$1,008.00
BRIDGEPORT FIRE DEPARTMENT	\$36.00	25	\$900.00
BROWNFIELD FIRE DEPARTMENT	\$36.00	7	\$252.00
BUFFALO VFD	\$36.00	16	\$576.00
BURKBURNETT FIRE DEPARTMENT	\$45.00	14	\$630.00
BURNET VOLUNTEER FIRE DEPARTMENT	\$50.00	16	\$800.00
BURTON VOLUNTEER FIRE DEPARTMENT	\$36.00	12	\$432.00
CACTUS FIRE DEPARTMENT	\$36.00	6	\$216.00
CAMERON FIRE DEPARTMENT	\$36.00	24	\$864.00
CANADIAN FIRE DEPARTMENT	\$100.00	26	\$2,600.00
CANYON FIRE DEPARTMENT	\$204.00	30	\$6,120.00
CARTHAGE FIRE DEPARTMENT	\$36.00	30	\$1,080.00
CENTER TX VOL FIRE DEPT INC	\$60.00	13	\$780.00
CHAPPELL HILL VFD	\$36.00	10	\$360.00
CLARKSVILLE FIRE DEPARTMENT	\$36.00	8	\$288.00
CLAUDE FIRE AND AMBULANCE	\$36.00	10	\$360.00
CLINT FIRE DEPARTMENT	\$36.00	18	\$648.00
CLUTE FIRE DEPARTMENT	\$155.00	16	\$2,480.00
COLUMBUS FIRE DEPARTMENT	\$90.00	26	\$2,340.00



·	Contribution	Total	Total
Department	Rate	Participants	Contribution
COOPER VOLUNTEER FIRE DEPARTMENT	\$75.00	17	\$1,275.00
CROCKETT FIRE DEPARTMENT	\$36.00	5	\$180.00
CROSBY VOLUNTEER FIRE DEPARTMENT	\$165.00	23	\$3,795.00
CROSBYTON FIRE DEPARTMENT	\$36.00	14	\$504.00
CUERO FIRE DEPARTMENT	\$62.00	13	\$806.00
DAINGERFIELD FIRE DEPARTMENT	\$60.00	14	\$840.00
DALHART FIRE DEPARTMENT	\$36.00	25	\$900.00
DALLAS CO FIRE AND RESCUE	\$36.00	2	\$72.00
DAVIS MOUNTAINS FIRE DEPARTMENT	\$36.00	8	\$288.00
DAYTON FIRE DEPARTMENT	\$36.00	34	\$1,224.00
DEER PARK FIRE DEPARTMENT	\$144.00	54	\$7,776.00
DENVER CITY FIRE DEPARTMENT	\$48.00	26	\$1,248.00
DIBOLL FIRE DEPARTMENT	\$36.00	5	\$180.00
DICKINSON FIRE DEPARTMENT	\$200.00	24	\$4,800.00
DIMMITT FIRE DEPARTMENT	\$105.00	18	\$1,890.00
DONNA VFD	\$36.00	21	\$756.00
DUMAS FIRE DEPARTMENT	\$36.00	7	\$252.00
EAGLE LAKE FIRE DEPARTMENT	\$100.00	22	\$2,200.00
EDCOUCH FIRE DEPARTMENT	\$36.00	19	\$684.00
EDGECLIFF VILLAGE FIRE DEPARTMENT	\$36.00	3	\$108.00
EDINBURG VOLUNTEER FIRE DEPARTMENT	\$145.00	24	\$3,480.00
EL CAMPO FIRE DEPARTMENT	\$140.00	24	\$3,360.00
EL PASO CO ESD #1	\$36.00	49	\$1,764.00
ELECTRA FIRE DEPARTMENT	\$36.00	16	\$576.00
FABENS FIRE DEPARTMENT	\$36.00	23	\$828.00
FAIRFIELD FIRE DEPARTMENT	\$36.00	5	\$180.00
FARMERSVILLE FIRE DEPARTMENT	\$36.00	14	\$504.00
FLATONIA FIRE DEPARTMENT	\$250.00	11	\$2,750.00
FORT DAVIS FIRE DEPARTMENT	\$36.00	11	\$396.00
FORT STOCKTON FIRE DEPARTMENT	\$36.00	28	\$1,008.00
FREDERICKSBURG FIRE DEPARTMENT	\$80.00	24	\$1,920.00
FREEPORT FIRE DEPARTMENT	\$36.00	1	\$36.00
FREER FIRE DEPARTMENT	\$36.00	14	\$504.00
FRIENDSWOOD FIRE DEPARTMENT	\$156.00	65	\$10,140.00
GAY HILL VOLUNTEER FIRE DEPARTMENT	\$36.00	12	\$432.00
GIDDINGS FIRE DEPARTMENT	\$36.00	23	\$828.00
GILMER FIRE DEPARTMENT	\$40.00	10	\$400.00



	Contribution	Total	Total
Department	Rate	Participants	Contribution
GONZALES ESD 1	\$36.00	14	\$504.00
GONZALES FIRE DEPARTMENT	\$36.00	15	\$540.00
GRANBURY FIRE DEPARTMENT	\$190.00	38	\$7,220.00
GRAND SALINE FIRE DEPARTMENT	\$50.00	17	\$850.00
GRANDVIEW FIRE DEPARTMENT	\$36.00	8	\$288.00
GREENWOOD RURAL VFD (PARKER COUNTY ESD #7)	\$36.00	9	\$324.00
GROESBECK FIRE DEPARTMENT	\$36.00	13	\$468.00
GROVES FIRE DEPARTMENT	\$36.00	9	\$324.00
GUN BARREL CITY FIRE DEPARTMENT	\$36.00	8	\$288.00
HALLETTSVILLE FIRE DEPARTMENT	\$50.00	31	\$1,550.00
HAMLIN VFD	\$75.00	15	\$1,125.00
HASKELL VFD	\$50.00	15	\$750.00
HAYS COUNTY ESD #6	\$100.00	30	\$3,000.00
HEARNE FIRE DEPARTMENT	\$75.00	17	\$1,275.00
HEMPSTEAD VFD	\$36.00	5	\$180.00
HEREFORD FIRE DEPARTMENT	\$100.00	23	\$2,300.00
HUNTSVILLE FIRE DEPARTMENT	\$36.00	11	\$396.00
IOWA PARK FIRE DEPARTMENT	\$100.00	16	\$1,600.00
IRAAN FIRE DEPARTMENT	\$36.00	10	\$360.00
JASPER FIRE DEPARTMENT	\$150.00	25	\$3,750.00
JEFFERSON FIRE DEPARTMENT	\$36.00	17	\$612.00
KERMIT FIRE DEPARTMENT	\$50.00	31	\$1,550.00
KINGSVILLE FIRE DEPARTMENT	\$36.00	15	\$540.00
LA GRANGE FIRE DEPARTMENT	\$75.00	28	\$2,100.00
LA PORTE FIRE DEPARTMENT	\$140.00	45	\$6,300.00
LAKE JACKSON VFD	\$200.00	21	\$4,200.00
LAMESA FIRE DEPARTMENT	\$200.00	21	\$4,200.00
LATIUM VOLUNTEER FIRE DEPARTMENT	\$36.00	5	\$180.00
LEAGUE CITY FIRE DEPARTMENT	\$200.00	106	\$21,200.00
LEVELLAND FIRE DEPARTMENT	\$36.00	20	\$720.00
LINDALE FIRE DEPARTMENT	\$36.00	40	\$1,440.00
LINN- SAN MANUEL VFD	\$36.00	12	\$432.00
LITTLEFIELD FIRE DEPARTMENT	\$36.00	14	\$504.00
LLANO FIRE DEPARTMENT	\$50.00	26	\$1,300.00
LOCKHART FIRE DEPARTMENT	\$36.00	1	\$36.00
LOUISE FIRE DEPARTMENT	\$115.00	13	\$1,495.00
MADISONVILLE FIRE DEPARTMENT	\$36.00	25	\$900.00



·	Contribution	Total	Total
Department	Rate	Participants	Contribution
MANVEL VOLUNTEER FIRE DEPARTMENT	\$50.00	7	\$350.00
MARFA VOLUNTEER FIRE DEPARTMENT	\$45.00	22	\$990.00
MATHIS FIRE DEPARTMENT	\$36.00	4	\$144.00
MERCEDES FIRE DEPARTMENT	\$36.00	2	\$72.00
MERKEL FIRE DEPARTMENT	\$36.00	5	\$180.00
MEYERSVILLE VOLUNTEER FIRE DEPARTMENT	\$36.00	9	\$324.00
MINEOLA FIRE DEPARTMENT	\$36.00	17	\$612.00
MINERAL WELLS VOLUNTEER FIRE	#50.00	,	# 000 00
DEPARTMENT	\$50.00	4	\$200.00
MISSION FIRE DEPARTMENT	\$36.00	6	\$216.00
MONAVILLE VFD	\$36.00	2	\$72.00
MONT BELVIEU FIRE DEPARTMENT	\$200.00	26	\$5,200.00
MONTANA VISTA FIRE DEPARTMENT	\$36.00	17	\$612.00
MORTON FIRE DEPARTMENT	\$36.00	10	\$360.00
MOULTON FIRE DEPARTMENT	\$36.00	21	\$756.00
MOUNT VERNON FIRE DEPARTMENT	\$36.00	15	\$540.00
MT ZION VFD	\$36.00	7	\$252.00
MULESHOE FIRE DEPARTMENT	\$36.00	15	\$540.00
NIXON VOLUNTEER FIRE DEPARTMENT	\$55.00	11	\$605.00
ODEM FIRE DEPARTMENT	\$36.00	9	\$324.00
OLD OCEAN VOLUNTEER FIRE DEPARTMENT	\$100.00	7	\$700.00
PALACIOS FIRE DEPARTMENT	\$75.00	16	\$1,200.00
PASADENA FIRE DEPARTMENT	\$200.00	120	\$24,000.00
PATTISON AREA VFD	\$36.00	6	\$216.00
PEARSALL FIRE DEPARTMENT	\$100.00	13	\$1,300.00
PERRYTON FIRE DEPARTMENT	\$120.00	11	\$1,320.00
PHARR VOLUNTEER FIRE DEPARTMENT	\$290.00	10	\$2,900.00
PORT ARANSAS FIRE DEPARTMENT	\$36.00	24	\$864.00
PRAIRIE HILL VOLUNTEER FIRE DEPARTMENT	\$36.00	19	\$684.00
PRAIRIE VIEW VFD	\$36.00	5	\$180.00
QUANAH FIRE DEPARTMENT	\$36.00	22	\$792.00
QUITMAN FIRE DEPARTMENT	\$36.00	17	\$612.00
RANDALL COUNTY	\$204.00	12	\$2,448.00
RANDALL COUNTY ESU	\$204.00	11	\$2,244.00
RAYMONDVILLE FIRE DEPARTMENT	\$75.00	16	\$1,200.00
RENO VOLUNTEER FIRE DEPARTMENT	\$36.00	19	\$684.00
RICHWOOD VFD	\$200.00	6	\$1,200.00
ROBY FIRE DEPARTMENT	\$36.00	7	\$252.00



·	Contribution	Total	Total
Department	Rate	Participants	Contribution
ROCKWALL FIRE DEPARTMENT	\$245.00	1	\$245.00
ROCKY CREEK VOLUNTEER FIRE DEPARTMENT	\$36.00	9	\$324.00
ROTAN FIRE DEPARTMENT	\$36.00	8	\$288.00
SALEM VOLUNTEER FIRE DEPARTMENT	\$36.00	8	\$288.00
SAN AUGUSTINE FIRE DEPARTMENT	\$36.00	18	\$648.00
SAN ELIZARIO FIRE DEPARTMENT	\$36.00	19	\$684.00
SAN JUAN FIRE DEPARTMENT	\$50.00	8	\$400.00
SAN SABA FIRE DEPARTMENT	\$36.00	14	\$504.00
SANGER FIRE DEPARTMENT	\$36.00	3	\$108.00
SANTA FE FIRE AND RESCUE	\$250.00	26	\$6,500.00
SCHULENBURG FIRE DEPARTMENT	\$80.00	35	\$2,800.00
SEABROOK FIRE DEPARTMENT	\$65.00	24	\$1,560.00
SEAGRAVES VFD	\$50.00	22	\$1,100.00
SEMINOLE FIRE DEPARTMENT	\$140.00	29	\$4,060.00
SEYMOUR FIRE DEPARTMENT	\$42.00	24	\$1,008.00
SHINER FIRE DEPARTMENT	\$36.00	42	\$1,512.00
SINTON FIRE DEPARTMENT	\$36.00	22	\$792.00
SLATON FIRE DEPARTMENT	\$36.00	19	\$684.00
SNYDER FIRE DEPARTMENT	\$36.00	8	\$288.00
SOCORRO FIRE DEPARTMENT	\$36.00	33	\$1,188.00
SONORA FIRE DEPARTMENT	\$52.00	17	\$884.00
SOUTH HOUSTON FIRE DEPARTMENT	\$60.00	14	\$840.00
SPEARMAN FIRE DEPARTMENT	\$36.00	2	\$72.00
SPRING VFD	\$200.00	15	\$3,000.00
SPUR FIRE DEPARTMENT	\$36.00	17	\$612.00
SUNRAY FIRE DEPARTMENT	\$36.00	10	\$360.00
SWEENY FIRE AND RESCUE	\$110.00	18	\$1,980.00
TAHOKA FIRE DEPARTMENT	\$36.00	19	\$684.00
TEAGUE FIRE DEPARTMENT	\$36.00	18	\$648.00
TERRELL VFD	\$50.00	22	\$1,100.00
TRI-COUNTY VFD	\$36.00	2	\$72.00
TRINITY FIRE DEPARTMENT	\$36.00	18	\$648.00
UPTON CO ESD #2	\$36.00	15	\$540.00
UVALDE FIRE DEPARTMENT	\$120.00	29	\$3,480.00
WALLER-HARRIS ESD #200	\$36.00	3	\$108.00
WASHINGTON VOLUNTEER FIRE DEPARTMENT	\$36.00	19	\$684.00
WEIMAR FIRE DEPARTMENT	\$45.00	39	\$1,755.00



Department	Contribution Rate	Total Participants	Total Contribution
WELLINGTON FIRE DEPARTMENT	\$36.00	19	\$684.00
WEST COLUMBIA FIRE DEPARTMENT	\$40.00	22	\$880.00
WEST VALLEY FIRE DEPARTMENT	\$36.00	36	\$1,296.00
WHARTON FIRE DEPARTMENT	\$100.00	16	\$1,600.00
WILD PEACH FIRE DEPARTMENT	\$100.00	18	\$1,800.00
WILLIAMSON COUNTY ESD 1	\$490.00	18	\$8,820.00
WINDCREST FIRE DEPARTMENT	\$36.00	13	\$468.00
WOLFFORTH FIRE DEPARTMENT	\$36.00	9	\$324.00
WOODVILLE FIRE DEPARTMENT	\$45.00	28	\$1,260.00
YOAKUM FIRE DEPARTMENT	\$36.00	18	\$648.00
YORKTOWN FIRE DEPARTMENT	\$36.00	27	\$972.00